HIERHh A RPIEH— R A SR (1)

BIEE S ERE S — (SR (4)

6 —
~ —— AL E—F
. 5 e R e—
= —=—FE0O%R
M
R 2
<

0 I I I I I I —R'ZM_I

45 46 47 48 49 50 51 52 1 2 3 4 5
B4 (8
BB B — (5 R (5) |
60 -

—— (I ILIY
- BRLEHEGL

<40 — — RSB E
>
i
i
0 L1y 7% = _—A—__— 2 —— 4 —— 2 7y N e VY
45 46 47 48 49 50 51 52 1 2 3 4 5
By (B)

) —— 5
BLG e
— — (R HEATBE
5 AN /\
72
€ 4
ot-tS—s—s——s——s——8——8—8——8—8——8———8—8"
45 46 47 48 49 50 51 52 1 2 3 4 5
BT GE)
BT BRI —~ (52 R(2) |
—— KIE
15 ¢ —s— BT E TR
- — — EEHE R
~ _
< 10
% —_—— —
LR 5 \ ,,,,,,,,,,,,
% A
ol —a——p—
45 46 47 48 49 50 51 52 1 2 3 4 5
i GE)
HlpR 5 R RSE Y —NAS R (3)
S ——EaK
—~ —B—IATZ XVl
< 2 ——TFT/BRE |
m
B
K

A\
L ¢ L L L
45 46 47 48 49 50 51 52 1 2 3 4 5

B GE)

* FAREASE ; o (24F2fH) BEUN (14FR2fH) Z=E/N (141/)
AEFN/N (24F-35%H)

O VI ERYYIE S PEALBE (D A ZHHR) B LT L CWVET
OAr 7Nz oL LmiTLTEELE
ALY BRNEZL AN ET

X N/ NERIES 58 (1/27~2/2)




